Installation manual

Bike carrier pivoting module

SWINGY

S =90 kg



https://towbars.lemet.net/

A Swivel module 1x @12 4x
L \ ?12x36x3 ax
@ 16 8x
M12x50 (8.8) 4x @12 4x
M16x55 (8.8) 4x @ @ 16 4x

M12 (8.8) 4x

M16 (8.8) 4x

Torgue settings for nuts and bolts
o N M12 (8.8) 93 Nm
< M16 (8.8) 230 Nm



https://towbars.lemet.net/

M12x 50 (8.8) /

M16x 50 (8.8) | 4x
M12(8.8)/ 4x
M16 (8.8) 4x
312 4x
D12x36x3/ |4x
16 8x
ad12/ 4x
216 4x

O @@ @ f



https://towbars.lemet.net/

composition du kit

Oy QeI e



https://towbars.lemet.net/



